£[S,R,Q]
R

A[W,V,U]

A[V,UR,] 4[S;,0,N]

N Miss die 16 Winkel und
notiere deine
Ergebnisse unten In die

Winkellowe

Tabelle!
A[L,M,N] Wenn notwendig,

verlangere die
AIK.LM] jeweiligen Schenkel!
K
AIAFE,] A[F.ED]

£(A1,B1C1) %(C,D,E) £(L,M,N) £(H1,G1,K1)
4(D1,E1,F1) x0FE,DO 4£(S1,R1,U) 4(S,R,Q)
%(A,F1,E1) %(F,G,H) £(11,H1,G1) £(V,U,R1)
3(B,C,D) 20K,L,MO £(S1,0,N) ~OWV.UO




Musterldosung

143.13

143.41°
V

143.98° R

102.35°

181.32"

87.23°



Musterlosung, gerundet auf volle Einer

£(A1B1C1) 143° 4(C,D,E) 113° A(LM,N)  161° £(H1,G1,K1) 113°
£(D1,E1,F1) 44° sOFEDO  102° £(S1,R1,U) 125° 4(S,R,Q) 144°
4(AF1,E1l) 81° 4(F,G,H) 79° £(11,H1,G1) 81° A(V,UR1)  124°
4(B,C,D) 101° (0KLMO 87° 4(S1,0,N)  43° LOWNVUDO 143°




